HOE ol & A & Al A
2008E = 204 LB
R
| XSt A (Et9i: #3)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
=230l =t 60, 142, 454 57,693, 114 2,449, 340
TS 59, 844, 334 57, 337, 554 2,506, 780
g 2stae 10, 970, 740 5,282,700 5, 688, 040
SHEZAZ HE XA 1,752, 840 1, 047, 000 705, 840
308 AXIHAMSOIA 402, 840 0 402, 840
01 XXSHBLAEEXS 402, 840 0 402, 840
OSST A J&AI2E HE 805, 680, 000& *50% = 402, 840
[= 402, 840]
403 N XM S K201 A 1, 350, 000 1,047,000 303, 000
01 XXSHHA2EX 1, 350, 000 1, 047, 000 303, 000
OZ sHEZA2 HE = 750, 000
(2 750, 000]
Ollld sHEZAE HE = 600, 000
(2 600, 000]
U2 12,000 12,000 0
308 AXHMSOIH 12, 000 12,000 0
01 XXSMBIAEXZ 12, 000 12, 000 0
O212ZXA = 12, 000
NLEZSHA AL SKIA 171, 500 161, 500 10, 000
308 AXIHKMSOIA 161, 500 161, 500 0
01 XXSMBAEEZ 161, 500 161, 500 0
ONgd2atAMS s
38, 000, 000 #1701 A *25% = 161, 500
403 XtXISMSA=201H 10, 000 0 10, 000
01 XXSHHA2EEX 10, 000 0 10, 000
OgZl 22 20, 000, 000& *50% = 10, 000
NL 2o ASERSHSALS 186, 500 85, 000 101, 500
308 AXIHHMSOIA 186, 500 85, 000 101, 500
01 AXNSHHBANEES 186, 500 85, 000 101, 500
OS2 AL AIEH 200, 000, 000& *50% = 100, 000
OZS2ANREE A W= 20, 000, 000& *50% = 10, 000




= A

w:

bk

CESI(EH) - HRAY - BHES

[
2

306, 000, 000& *25% =

76, 500

529, 300

429, 300

9, 300

9, 300

9, 300
9, 300

9, 300

520, 000

420, 000

520, 000
520, 000

420, 000

4

3, 800, 000

3, 800, 000

3, 800, 000

3, 800, 000

O
0
£l
0z
Mo
Ho
=
ton
el
11

O
O
0x
i
o
i
T
1

tol

4, 000, 000, 0003 *50% =

=]

=]

3, 800, 000
600, 000
500, 000
200, 000

200, 000]

2,000, 000

500, 000
500, 000]

3, 800, 000

4, 080, 000

3, 580, 000

4, 000, 000

3, 500, 000

>

4, 000, 000
4, 000, 000

3, 500, 000

80, 000

80, 000

80, 000
80, 000

80, 000

250, 000

250, 000

250, 000

250, 000

W

in

250, 000
250, 000
160, 000]
90, 000]

dEE
Off & K

100, 000

0

0

100, 000

100, 000

0

0

0

500, 000

500, 000

500, 000

0

0

0

0

0

250, 000




A5 2505
Crol: X e e sz (ool @
SH-BH-SA(BH) - MBAY - BLS 0f) &+ o Shitr HDS2
EsttlsAg 22 188, 600 115, 200 73,400
201 LBt=EH] 98, 500 31,200 67,300
01 At=2teldl 72,500 15, 600 56, 900
Oggt==gH] = 56, 900
OF=3={[ = 15,600
03 A= HI 26, 000 15, 600 10, 400
OsEEsazd = 10, 000
O==tHEd /34, A23=2d = 10,000
ONS2IHEEH = 6, 000
202 o4l 49, 500 50, 400 A900
01 =LH0ddl 49, 500 50, 400 A900
O=2stl=deggeFd = 49, 500
203 B =] 40, 600 33, 600 7,000
03 AIRFAHIZ=LH 40, 600 33, 600 7,000
OB ot = 25,000
O EMIFAIH=A = 12,000
O2=g =X = 3,600
Ngo=ds 10, 502, 280 6, 494, 475 4,007,805
=AZ0F Ol=Z A X3 AH 363, 470 354, 375 9,095
307 glztol & 363, 470 354, 375 9,095
02 wx3Hd=Ex 363, 470 354, 375 9, 095
O=20F Ol=Z A2 A = 363, 470
[= 236, 250]
== 127, 220]
SHAZEIZUAY 151, 000 200, 000 49,000
307 glztol & 151, 000 200, 000 249,000
02 w23Hd=Ex 161,000 200, 000 249,000
OS g AHHEIZIAIE = 1561, 000
(D] 111, 000]
== 40, 000]




c Ngo=8s (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
PUHSHEZ MEX 289, 900 382, 500 A 92,600

308 XAXHHMSOIA 289, 900 382, 500 A 92,600
01 XXHMBAEXEFZ 289, 900 382, 500 A92,600

ORUSHEZ MEX A 446, 000, 0002 *65% = 289, 900

[J] 223, 000]

= 66, 900]
SRS =sH &t 68, 000 68, 000 0
308 X HAMSOIA 68, 000 68, 000 0
01 XXHMBLAEEZ 68, 000 68, 000 0

OHM493 st22=BM==H &t = 50, 000

(=2 5, 000]

== 45, 000]

OHM153 MIFAEZ0=H = 18, 000

(=2 3, 000]

= 15, 000]
NS EZSHH =S HE ALY 234, 000 270, 000 A 36,000
308 KX HHMSOIA 234, 000 270, 000 A 36, 000
01 XXHMBAEEZ 234, 000 270, 000 A 36,000

OXNEZSH=nSHEH A 360, 000, 000& *65% = 234, 000

(=2 180, 000]

(& 54, 000]
NG 23tz uns22Ld2 A 65, 000 0 65, 000
308 AXHHMSOIA 65, 000 0 65, 000
01 AXNHHBAEXES 65, 000 0 65, 000

ONEZsH=n=s2de=Ad

100, 000, 000& *65% = 65, 000

(=2 50, 000]

(& 15, 000]
MEFHAAHS 230 = WSAI 182, 000 210, 000 A 28,000
308 XAXHHMSOIA 182, 000 210, 000 A 28,000
01 XXHMBAEXEZ 182, 000 210, 000 A28, 000




= A

w:

£l

3H) - HIRAY - BEE

[
2

=20
M

SHol= W =F A

M0

A
=

280, 000, 000& *65% =

[D]

182, 000
140, 000]
42, 000]

260, 000

260, 000

260, 000

260, 000

400, 000, 000 *65% =

260, 000
260, 000
200, 000]
60, 000]

260, 000

Stol=elIBAIE X d

1,480, 000

1,220, 000

1, 480, 000

1, 220, 000

e
w
I

1,480, 000
1, 000, 000
1, 000, 000]
480, 000
480, 000]

1, 220, 000

100, 000

100, 000

100, 000

100, 000

100, 000
100, 000

100, 000

426, 000

70, 000

396, 000

40, 000

OXdZzt=

396, 000
396, 000

40, 000

308 KtXIEHH

30, 000

30, 000

60, 000, 000& *50% =

30, 000
30, 000

30, 000

50, 000

50, 000

50, 000

50, 000

50, 000
50, 000

=
OH
0
0
0
260, 000
260, 000
260, 000
0
0
0
356, 000
356, 000
356, 000
0
0
0
0
0

50, 000




SA2H0SD
R R
Sl X sxE (crof: Mgl

SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SHO0EHA K& 30, 000 0 30, 000
307 2I2tol A 30, 000 0 30, 000
04 BIZFSHALE = 30, 000 0 30, 000
OSYOtEHN XA = 30, 000
OtAIOF Dt =X 150, 000 0 150, 000
307 2I2t0| & 150, 000 0 150, 000
04 DIZFSHALE = 150, 000 0 150, 000
OOLAIOF D22 =H = 150, 000
X0t 2 AY 208, 000 240, 000 A 32,000
308 AXHMSOIH 208, 000 240, 000 A 32,000
01 AXNHHBAEEZ 208, 000 240, 000 A 32,000
OF0Pl= =SHEsAMd 320, 000, 000& *65% = 208, 000
(2 160, 000]
= 48, 000]
M=t 29 4,652, 376 3, 220, 000 1,432,376
308 X HHMSOIH 4,642,376 3, 220, 000 1,422,376
01 RXXSMBIAESEZ 4,642,376 3, 220, 000 1,422,376
Ozts et 2, 295, 226, 000& *60% = 1,377,136
Qugtct 3ot 4, 664, 628, 000%70% = 3, 265, 240
403 AtXISHHSA201H 10, 000 0 10, 000
01 XXHHA=2EX 10, 000 0 10, 000
OUHH M Y2 A 24|72
20, 000, 000& *50% = 10, 000
SHHEZYARA 22 294, 934 299, 000 A4, 066
308 AXIHMS0IH 294, 934 299, 000 A4, 066
01 RXSMBIAESEZ 294, 934 299, 000 A4, 066
OSHHEZYARA 22 421, 333, 000& *70% = 294, 934
NE3Hu=X& 30, 000 0 30, 000
308 AXHMSOIH 30, 000 0 30, 000
01 AXNHHBAEEZ 30, 000 0 30, 000
OZ2Z2| 0t & A A 60, 000, 000& *50% = 30, 000




c Ngo=8s (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
NS EZSHH = ALK& 465, 000 35, 000 430, 000

308 XAXHHMSOIA 465, 000 35, 000 430, 000
01 XXHMBAEXEFZ 465, 000 35, 000 430, 000
OQHHIILA=]AZA 30, 000, 000& *50% = 15,000
OS=FZ40=H 10, 000, 000& *50% = 5, 000
O3 =20=H 10, 000, 000& *50% = 5,000
OZ2ZFEAEH=H 20, 000, 000& *50% = 10, 000
O=GYAt 7003 JI&E A} 100, 000, 000& *50% = 50, 000
OLARXA 230 =3 ALK 2 (poal )
160, 000, 000& *50% = 80, 000
OZUAZII2AMG 600, 000, 000& *50% = 300, 000
NS =BG XA 580, 000 380, 000 200, 000
307 2I2t0| & 200, 000 0 200, 000
04 CIZFSHALE = 200, 000 0 200, 000
ONAH A2 =012l = 200, 000
308 X HHMSOIH 380, 000 380, 000 0
01 AUXNHHBAEEZ 380, 000 380, 000 0
OFANZ=E d=F 53 180, 000, 000& *50% = 90, 000
Ogsd i HE- YOS
140, 000, 000& *50% = 70, 000
OLD0ILZE d=eEH IR 240, 000, 000& *50% = 120, 000
OUAEMNHASIIEIS LS A 200, 000, 000& *50% = 100, 000
2= H0l=H 35, 000 100, 000 A 65,000
308 XAXHHMSOIA 35, 000 100, 000 A 65,000
01 XXHMBAEXEZ 35, 000 100, 000 A 65,000
O=F==2H0ol=H 70, 000, 000& *50% = 35, 000
F=ESSZ AU 30, 000 30, 000 0
308 AXIHMS0IH 30, 000 30, 000 0
01 AUXHHBANEES 30, 000 30, 000 0
O=8Z=Z2Uz 60, 000, 000& *50% = 30, 000




c Ngo=8s (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
RIESYNE=RsigmE= P 40, 000 32, 000 8, 000

308 XAXHHMSOIA 40, 000 32, 000 8, 000
01 XXHMBAEXEFZ 40, 000 32,000 8, 000
(ORIEINL==igmE=P 2, 500, 000 #3294 1) *50% = 40, 000
278 OAJME R0 XX 157, 600 57, 600 100, 000
308 XMXHMSOIA 57,600 57,600 0
01 RXNSMIAESEZ 57, 600 57,600 0
OLAL ORI R0 &XIXIA
4, 000, 000 *48IH 2~ *30% = 57,600
403 XXM S K201 A 100, 000 0 100, 000
01 XXHHA=2EX 100, 000 0 100, 000
OO0FASHAIEHE 200, 000, 000& *50% = 100, 000
TS Z oA B 1004 D1 ES L3 60, 000 0 60, 000
308 AXHHMSOIA 60, 000 0 60, 000
01 XXHMBAEEFZ 60, 000 0 60, 000
Og=2d A &4 1004 D12 34
200, 000, 000& *30% = 60, 000
SHs S=t 5K 100, 000 0 100, 000
308 AR HMSOIH 100, 000 0 100, 000
01 AUXNHHBANEXZ 100, 000 0 100, 000
OsHss=ZdsX&2 200, 000, 000& *50% = 100, 000
=it '4 1,287,000 2, 120, 000 A 833, 000
CXNE2saPEEsd 29 400, 000 400, 000 0
306 EH= 400, 000 400, 000 0
01 =93 400, 000 400, 000 0
OUXNEzsadlsd 29 = 400, 000
FsFE= FEI|B =4 200, 000 400, 000 A 200, 000
306 =423 200, 000 400, 000 A 200,000
01 &d3 200, 000 400, 000 A 200, 000
OZst&E&I| A= = 200, 000




s Snsas
Col: 2otate S4 (S Ml
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
SR EZ3 HES ZE= LAY 590, 000 0 590, 000
306 EH= 590, 000 0 590, 000
01 =93 590, 000 0 590, 000
ORUAAZOIHEL N - 90, 000
OWMzZst 30 SA4ZH= HMZ = 500, 000
Fatatey 2cto HERA 43t 17,000 0 17,000
306 = 17,000 0 17,000
01 &da3 17, 000 0 17, 000
QYU MOoF =Xt =2ctel AT = 17, 000
Nethias NE2s2H4d 80, 000 20, 000 60, 000
307 2I2tol A 80, 000 20, 000 60, 000
02 QIZtABASB =X 80, 000 20, 000 60, 000
ONYHEE XAEsae - 80, 000
(2 40, 000]
== 40, 000]
23 Hs & BE 37,084, 314 43, 440, 379 AB, 356, 065
INHKE 23 M S4B He JIEEHL 208, 000 240, 000 A 32,000
308 XAXHMSOIA 208, 000 240, 000 A 32,000
01 RXSMIAEEZ 208, 000 240, 000 A 32,000
OFNXNE2ME A HEXE JIEHS
320, 000, 000& *65% = 208, 000
[= 160, 000]
= 48, 000]
IKE =23 fE2el X 20, 000 20, 000 0
308 AXIHMS0IH 20, 000 20, 000 0
01 RXSMBIAESEZ 20, 000 20, 000 0
OZIZ s E 22 = 20, 000
[= 20, 000]
HdEAEE =TI 1, 068, 000 1,117,500 A 49,500
403 XX SHHSA=01H 1, 068, 000 1,117,500 A 49,500
01 XXISHXMAEL X 1, 068, 000 1,117,500 A 49,500
O S A2 E+=FH| 1, 780, 000, 000& *60% = 1, 068, 000

_9_




z39ea,
M Hs & F= (S MR
H-32-e2(8H) - NRAY - B Lo Shitr HDS2
712, 000]
356, 000]
S5 UFAEs Hacddl AgXE 2,899,000 5, 386, 500 A2, 487,500
403 MR EHSA=01H 2,899,000 5, 386, 500 A2, 487,500
01 MXEMA2EX 2,899, 000 5, 386, 500 N2,487,500
OsE1TARs Zaeldl AN
4, 460, 000, 000& *65% = 2,899, 000
2,230, 000]
669, 000]
g2 ds0lgt X 585, 000 2,250,000 A1, 665,000
403 M XIEHSA=01& 585, 000 2,250,000 A 1,665,000
01 MXISHMAEE X 585, 000 2,250,000 A1, 665,000
ORI &Es0I8t 2=AY N&
900, 000, 0003 *65% = 585, 000
450, 000]
135, 000]
HAHE=t=& SHE e st=XAt 200, 000 100, 000 100, 000
207 AA2IOH &I 200, 000 100, 000 100, 000
01 gxEHHI 200, 000 100, 000 100, 000
OAMHZst7o STHE I8t st=XAt = 200, 000
SE3 M SHEAMN S X2 94, 017 94,017 0
308 AXIEHHMSOIH 94,017 94,017 0
01 NMAEHIdEx= 94,017 94,017 0
OFE=stl SHeMN S N = 94,017
= 62, 678]
S 31, 339]
gE2=21 dsAE 192, 000 192, 600 A600
308 AHXIEHSOIH 192, 000 192, 600 A 600
01 MXEH3dEx= 192, 000 192, 600 A600
ORd==tl 8k 384, 000, 000& *50% = 192, 000

_10_




s Sanane
Col: 25T M o BE (Erol #@ e
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
KNS 23H23HM) o= E 165, 000 80, 000 85, 000
308 XAXHHMSOIA 165, 000 80, 000 85, 000
01 XXHMBAEXEFZ 165, 000 80, 000 85, 000
O EaRA HEUXA 110, 000, 000& *50% = 55, 000
OX<E =23t e = 220, 000, 000& *50% = 110, 000
Ng2si 2434I(PCL) 1, 000, 000 1, 700, 000 A700, 000
403 XXM S K201 ™ 1, 000, 000 1, 700, 000 A 700,000
01 XXHHA=2EX 1, 000, 000 1, 700, 000 A 700, 000
OXNYZsHE+=EH| 2, 000, 000, 000& *50% = 1, 000, 000
ESZANE2S FY| 200, 000 200, 000 0
403 XX XS K201 ™ 200, 000 200, 000 0
01 XXISHXMAELX 200, 000 200, 000 0
OsaZANd2 Y| 400, 000, 000& *50% = 200, 000
NEXE 23 E+=ZFH| 4,503, 200 5, 160, 447 AB57, 247
408 XX SHHSA=01H 4, 503, 200 5,160, 447 AB57, 247
01 XXHXMA2EX 4,503, 200 5,160, 447 AB57, 247
OANEXEZ3M E+FHl 6,928,000, 0002 x656% = 4,503, 200
[= 3, 464, 000]
(& 1,039, 200]
SNEEZ AIEHE 600, 000 400, 000 200, 000
403 XX SHHSA=01H 600, 000 400, 000 200, 000
01 XXSHXA=2EX 600, 000 400, 000 200, 000
O=EXNZEZ AMEHE 1, 200, 000, 0002 *50% = 600, 000
NLEEHSAE B 1, 070, 000 0 1, 070, 000
403 X SMS K201 & 1, 070, 000 0 1, 070, 000
01 XXHXNA=2EEX 1, 070, 000 0 1, 070, 000
OXEANEESTHI(BILAL 24AH)
40, 000, O00R *2IH 2 *50% = 40, 000
O=4 A& I 800, 000, 000& *50% = 400, 000
OXYMEAEE2FHI(poal )
2, 100, 000, 000& *30% = 630, 000




Hde =2t Hs 2 EE (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
Ol=22A" 750, 000 0 750, 000

403 XX SHHSA=01H 750, 000 0 750, 000
01 XXISHXMAELX 750, 000 0 750, 000
Olfl=22d 1, 500, 000, 000x50% = 750, 000
3, AtgeEa2 2 0= XIJAAME 300, 000 0 300, 000
408 XX EHHSA=01H 300, 000 0 300, 000
01 XXHHA=2EX 300, 000 0 300, 000
Ost=2nH=822HFUHELE 600,000, 0002 «50% = 300, 000
A2 M Ag 150, 000 0 150, 000
403 XXM S K201 A 150, 000 0 150, 000
01 XXHHA=2EX 150, 000 0 150, 000
OL=8d &% A8 K& 500, 000, 000& *30% = 150, 000
P 2IMEES K& 40, 000 0 40, 000
307 2I2tol A 40, 000 0 40, 000
04 CIZFSHALE = 40, 000 0 40, 000
ORIZIHAIE X2 = 40, 000
Hglojg=2a He 300, 000 0 300, 000
403 XX SHHSA=01H 300, 000 0 300, 000
01 XXSHXA=2EX 300, 000 0 300, 000
oozlolga HE (24 = 300, 000
[ 300, 000]
WESSFARSAIU(ZXE) 1, 550, 000 0 1, 550, 000
403 XX SHHSKA201H 1, 550, 000 0 1, 550, 000
01 XTXHHA=2EX 1, 550, 000 0 1, 550, 000
OZ =L X &AL 100, 000, 000& *50% = 50, 000
OUZ2}ARHIU(EXH)
5, 000, 000, 000 *30% = 1, 500, 000
ZAMEE 22| XN 16, 364, 285 17,178, 743 A814, 458
403 XX SHSA201H 16, 364, 285 17,178, 743 A 814,458
01 XXHAHA=2EX 16, 364, 285 17,178, 743 A 814,458
OHNzZstd 2=EEH 4,285, 713, 000& *79% = 3,385,714
(=2 3, 000, 000]

_12_



Hde =2t Hs 2 EE (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
== 385, 714]
OZNKNE =23 M E+=FHl 16,428,570, 0002 *79% = 12,978, 571
(= 11, 500, 000]
= 1,478, 571]
ZoeE 22X e XA 1,809, 600 3,237,000 A1,427, 400
408 XX EHHSA=01H 1, 809, 600 3, 237, 000 A1,427, 400
01 XXHHA=2EX 1, 809, 600 3, 237, 000 A1,427, 400
O0lsE&d MILX EHIXIA
1, 484, 000, 0002 *65% = 964, 600
(2 742, 000]
= 222, 600]
OQHELMMELY ==& F=HFHl X&
100, 000, 000& *65% = 65, 000
(2 50, 000]
= 15, 000]
ORSME HMSAA I8 XA
1,200, 000, 000& *65% = 780, 000
[ 600, 000]
(& 180, 000]
EHdI9A=ZE 22| 1,693, 000 600, 000 1, 093, 000
306 EH= 1,693, 000 600, 000 1, 093, 000
01 =93 1, 693, 000 600, 000 1,093, 000
Og9AZsta J1Z2E8E2 = 600, 000
O AEZsd 23| = 1, 093, 000
FMHEE 2l A 290, 732 0 290, 732
308 X HMSOIH 290, 732 0 290, 732
01 AXNHHBANEXES 290, 732 0 290, 732
O=ZsHEE 22 At 581, 464, 000& *50% = 290, 732
(=2 257, 715]
= 33,017]

_13_
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